

①

—1

Q

12

	r	r^2
$P(r)$	$+\phi$	$-\phi$
	$+$	$+$

$$P(x) \mid + \overset{1}{-} - \overset{0}{+} -$$

$$\begin{array}{c|ccc} & 1 & -10 & -1 \\ \hline P(x) & + & 1 & -1 & + \end{array}$$

$$\begin{array}{r|rrrr} & 1 & -9 & 14 & -6 \\ p(x) & x^3 & -9x^2 & +14x & -6 \end{array}$$

	1	2	3
$P(x)$	$\frac{1}{4}$	$\frac{1}{2}$	$\frac{1}{4}$

	-1	1	ω
$P(x)$	1	-1	ω-1

الف) $\sqrt{\frac{(x-1)(x-3)}{x^2-1}}$ $x \begin{cases} 1 \\ 3 \end{cases}$ $\frac{p(x)}{q(x)} \begin{array}{c|c|c|c} & -1 & - & 3 \\ \hline p(x) & - & - & + \end{array}$ $Df = [3, \infty)$

ب) $\sqrt{\frac{x^2-4x+3}{x^2-1}}$ $\Rightarrow x^2-1 \neq 0 \Rightarrow x^2 \neq 1 \Rightarrow x \neq \{1, -1\} \Rightarrow Df = \mathbb{R} - \{1, -1\}$

الف) $x^2-3x > 0 \Rightarrow x(x-3) > 0$ $\frac{p(x)}{q(x)} \begin{array}{c|c|c|c} & 0 & 3 & \\ \hline p(x) & + & - & + \end{array} \Rightarrow Df = (-\infty, 0) \cup (3, \infty)$
 $D_f = (-3, 0) \cup (3, +\infty) - \{ \pm 3 \}$

ب) $19 - x^2 > 0 \Rightarrow x^2 < 19 \Rightarrow -\sqrt{19} < x < \sqrt{19} \Rightarrow Df = (-\sqrt{19}, \sqrt{19}) - \{ \pm 3 \}$
 $D_f = (3, 1) - \{ 9 \}$

ج) $\frac{x^2-7x+12}{x-2} > 0$ $\frac{(x-3)(x-4)}{x-2} > 0$ $\frac{p(x)}{q(x)} \begin{array}{c|c|c|c} & 2 & 3 & 4 \\ \hline p(x) & + & - & + \end{array}$, $x \neq 2 \Rightarrow Df = (2, \infty) - \{ 9 \}$

د) $x^2-11x+28 > 0 \Rightarrow (x-4)(x-7) > 0$ $\frac{p(x)}{q(x)} \begin{array}{c|c|c|c} & 4 & 7 & \\ \hline p(x) & + & - & + \end{array}$, $\sqrt{19-x^2} > 0 \Rightarrow 19-x^2 > 0 \Rightarrow x^2 < 19 \Rightarrow -\sqrt{19} < x < \sqrt{19}$
 $D_f = (-\sqrt{19}, \sqrt{19}) - \{ 9 \}$
 $D_f = (0, 3) - \{ 3 \}$

$\frac{x^2-x}{x^2+x}$ $x \begin{cases} 0 \\ -1 \end{cases}$

	-1	0	1
x^2-x	+	+	-
x^2+x	+	+	+
$p(x)$	+	+	+

$x \begin{cases} -1 \\ 0 \end{cases}$ $\frac{p(x)}{q(x)} \begin{array}{c|c|c|c} & -1 & 0 & 1 \\ \hline p(x) & + & - & + \end{array}$

$y = \sqrt{\frac{x-f(x)}{f(x)}}$ $x \begin{cases} -1 \\ 2 \\ -2 \end{cases}$

	-2	-1	2	3
$p(x)$	-	+	-	+

$Df = [-2, 0] \cup (2, 3]$

